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QUESTION 1

A solution developer is investigating a problem where a message flow does not run to completion. The message flow
includes an aggregation block. The solution developer determines that messages are accumulating at the
AggregateReply node. In order to resolve the problem, the solution developer needs to: 

A. wire the AggregateReply Timeout terminal. 

B. change the AggregateControl Timeout property to a nonzero positive value. 

C. change the AggregateReply Unknown message timeout property to a nonzero positive value. 

D. set the AggregateControl Timeout location property to specify where incomplete messages should be sent. 

Correct Answer: B 

 

QUESTION 2

A solution developer needs to determine why the latest update to a message flow does not work as designed. It is
thought that the latest update has not been deployed to the broker. What command can the solution developer use to
determine which BAR file is deployed? 

A. mqsilist 

B. mqsireadbar 

C. mqsireportbroker 

D. mqsireportproperties 

Correct Answer: A 

 

QUESTION 3

A message flow needs to be designed such that available messages must be processed in sequential order. Missing
messages in the sequence must be discarded if they appear later. The solution developer implements this message
flow using Sequence and Resequence nodes. To meet the specifications for this message flow, how should the solution
developer wire the Resequence node? 

A. The Out, Expire, and Missing terminals should be wired together. 

B. The Out terminal should be wired, but the Expire and Missing terminals should be left unwired. 

C. The Out and Missing terminals should be wired together, and the Expire terminal should be left unwired. 

D. The Out and Expire terminals should be wired together, and the Missing terminal should be left unwired. 

Correct Answer: D 
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QUESTION 4

A solution developer is writing a message flow using the XMLNSC domain. Testing is producing the wrong output, and
the solution developer is uncertain which node is causing the error. The solution developer adds a Trace node to display
the contents of the data being passed. Which Trace node pattern will display the contents of the data? 

A. ${Root} 

B. ${XMLNSC} 

C. ${InputRoot} 

D. ${InputXMLNSC} 

Correct Answer: A 

 

QUESTION 5

While testing a message flow with a Compute node that contains two PROPAGATE statements, a solution developer
discovered that the output message assembly is empty before the second PROPAGATE statement is executed. What
must the solution developer do to prevent this from happening? 

A. Add a DELETE NONE clause to the first PROPAGATE statement. 

B. Add a DELETE DEFAULT clause to the first PROPAGATE statement. 

C. Add a FINALIZE DEFAULT clause to the first PROPAGATE statement 

D. Write a SET OutputRoot.Body = InputRoot.Body statement before the second PROPAGATE statement. 

Correct Answer: A 
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